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Solution for exercise 2.2.4 in Pitman 1

First we note

P (More than 120 patients helped) = 1 − P (At most 120 patients helped)

and we apply The Normal Approximation to the Binomial Distribution page 99 for
the second term i.e. we want to evaluate P (At most 120 patients helped). We have
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. The value of b in the formula

is 120 (more than 120). As there is no probability mass to be subtracted we do not
include the a term. We get

P (More than 120 patients helped)=1−Φ

(
120.5 − 100

8.165

)
= 1−Φ(2.51)=1−0.994 = 0.006

Normal Approximation to the Bino-
mial Distribution:
For a large number of independent trials n,
with probability of success p, the probabil-
ity mass between a and b successes can be
approximated by
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where Φ(z) is the cdf. for the standard nor-
mal distribution.
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